Math 3  







Name: ______________________
Mod 2, Day 8







Date: ______________ Period: ___
Log (  ) + Log (  ) = # 
Log (  ) + Log (  ) = #:  These problems involve a combination of using log properties and rewriting equations in exponential form.
1.Solve for x.
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Log Equations Summary:  We have solved several different types of log equations in this chapter.  
	Type:
	Hints when solving:
	Example:
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Mixed Practice:

	1.  Solve for x.  Be sure to show the exact and approximate answers.   Check your solutions!
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	5.  Blake ate at Filthy Fred’s Greasy Burger Joint where he ingested 50 bacteria.  The bacteria double in number every hour.  When will there be 1,000?



	


M2D8


p.1 of 2

_1356945509.unknown

_1356945925.unknown

_1567488320.unknown

_1567488384.unknown

_1567488701.unknown

_1356946158.unknown

_1382715401.unknown

_1382716817.unknown

_1356946176.unknown

_1356946140.unknown

_1356945658.unknown

_1356945697.unknown

_1356945601.unknown

_1353408947.unknown

_1356889750.unknown

_1356889974.unknown

_1356890010.unknown

_1356889928.unknown

_1356889833.unknown

_1353409216.unknown

_1353409386.unknown

_1353409051.unknown

_1321344544.unknown

_1353399867.unknown

_1353399887.unknown

_1353399913.unknown

_1321351212.unknown

_1321344441.unknown

_1137081371.unknown

